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Paper 3- Answers
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Need more practice? Why not try our FREE sample Online papers.
https://smart-stepz.com/free-learning-resources/
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4. An express train took 2 hours 40 minutes and 10 seconds to travel from
(1) Manchester (o Sheflield. A bus which lefl Manchester at the same ook 4
‘hours 20 minutes and 25 seconds to reach bhciﬁcld How much time

would a commuter save travelling by train instead of by bus? O @
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5. What is the outer angle made by the hour and
minute hand?
a. Acute angle (0-90° in measure)
() Reflex angle (180° - 360° in measure)
. Obtuse angle (90° - 180° in measure)
d. Rightangle (90" in measure)
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6. How many lines of symmetry are there in the given figure?
a. 3

ae@®
[ NV N




image7.png
7. Tind the answer for the following expression.
8§+5x(10+2)+3-4 (B)
Order of operations
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8. Which net can be used to create a cube?

Will fold onto each
other

: ©
Will fold onto each
other
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9. Express the statement below as an equation. A /ﬁ

“When 12 is subtracted from five times alcertain number)the value

5«

obtained is 9
a 5(x-12)—98
b. 12-5x—98

54-12.=98
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total distance around the outside of a shape

10. Find the perimeter of the following figure,
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1. A vehicle travelled 20 km on 2 liters of fuel. How many liters of fuel are required to
travel 160 km? (AY)
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. “Two hundred four million seven thousand eight hundred™? (D)

/000,000 £ 200 = 200,000,000
4, boo, 00O X 4 = 4 000,00°
' + 7,000

g00

204,007,800




image3.png
3. How many groups of twenty-five are there in 17502 (A)
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